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I can never forget the name that he called me.
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I know better than to move another peg.
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I have no opinion of him.
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It cannot be true by any stretch of the imagination.
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He continually harps on lack of opportunity.
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Once you are in public life, you are fair game to the newsmen.
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She sat in the room With a sad air.

(A) B Jf e 50 B g -

(B) 71 i“#}ﬁ *@S“,?
(D) et ﬁ IR -

3
T

(B) PO 23
e Yy I R

(C) Bl v S R - (D) ;(spgu
This car is past repair.
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Many documents still remain to be waded through.
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He is rich in humor.
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| was transported with joy at the news.
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Passengers please come forward to the departure area for your exit formalities.
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His name escapes me for a moment.
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(A) I thought in my mind that there is Tou-liu. (B) My mind told me Tou-liu is here.

(C) I certainly know of Tou-liu. (D) I said to myself that this must be Tou-liu.

FEAR TR ,';EL—‘\E[SJF‘:J o
(A) Yesterday afternoon rained very hard. (B) It rained very hard yesterday afternoon.
(C) It fell very hard rain yesterday afternoon. (D) Yesterday afternoon had very hard rain.
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(A) My toys are as twice many as yours. (B) My toys are as many twice as yours.
(C) My toys are twice as many as yours. (D) My toys have twice of yours.
;LF%EH’?[ FAI A9 Y o

(A) The advertisement reads as follows. (B) The advertisement is read following.

(C) The message’s words are in the following. (D) The advertisement is written later.

TALE - i~ EE P

(A) Not everyone errs. (B) Some err, but some doesn’t.
(C) Everyone not makes mistakes. (D) There is no one without errors.
iJ'};/m IHT ;;Dii-:

(A) You are going to know how difficult anything is until you have tried it.
(B) No one can tell how difficult the thing is if one has not tried it.

(C) One cannot know the difficulty of a thing if he has experienced it.

(D) Things do not pass through, so you don’t know the difficulty.

= I R R Y iﬁﬁ =51 -

(A) Rain at this time of year IS seasonal with us.

(B) Raining at this time of year is seasoned with us.
(C) Rain at this time of year is seasonable with us.
(D) At this time of year, raining is seasoning with us.
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(A) Though he has knowledge, he has not least actual experience.

(B) He has knowledge, he has not many experiences.

(C) Though he is learned, but he is not in the possession of any practical experience.
(D) Learned as he is, he is not possessed of any practical experience.

PORER R TR fL 0 TpRL T R

(A) It is not that he did not wish to see you yesterday but that he failed to come as he wished.
(B) He has come to see you yesterday as he had not wished.

(C) Itis not that he is unwilling to meet you yesterday but that he fails to do so as he wished.
(D) Not that he wished to meet you yesterday but that he had to.

AR - (R

(A) His refusal to receive the bribe was a credible action.

(B) His refusal to take the bribe was a credulous action.

(C) That he had refused to accept the bribe was a creditable action.
(D) That he had refused to receive the bribe was an incredible action.

ERS S

(A) He was great anger. (B) He was a terrifying mad man.
(C) He was crazy about madness. (D) He was beside himself with rage.

A adERed R

(A) Until twenty minutes she could walk into the office.
(B) For twenty minutes she will be at the office.

(C) In twenty minutes she would leave for the office.
(D) From twenty minutes she would leave the office.
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, he was as curly-haired and overweight as one of these pigs fattened for the
festival, but now his hair has fallen out and he looks like a round lamppost.
(A) Until (B) Until recently (C) Until further notice (D) Until whereas

a young bride has established herself as a member of the women's
community, she has also established for herself a certain amount of protection.
(A) Upon (B) Once upon atime (C) Once (D) Even if

On the third day after a child's offerings of rice and peanuts are made to the
Bed Mother Goddess.
(A) borne (B) was born (C) borned (D) birth
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She went to the

(A) personal with a headache and asked for some aspirin.

(B) personality excited to find out if she had gotten the job or not.

(C) person on charge of complaints to complain about the poor service.
(D) personnel office to demand a pay raise.

Sally taught the girls :

(A) that to make butter, cheese, soap and candles, bread, Indian pudding, and curry.
(B) how to make butter, cheese, soap and candles, bread, Indian pudding and curry.
(C) that to make butter, cheese, soap and candles, bread, Indian pudding, curry.

(D) how to make butter, cheese, soap and candles, bread, Indian pudding, curry.

Boatloads of people in dark clothing came from all over to the funeral:
(A) a hammer, a chisel, and a box of nails.

(B) in hopes to see the new lord of the island.

(C) the boats were carrying bananas and other tropical fruit.

(D) sisters and brothers, nieces and nephews, and men who had known him.

Which of the following is not a complete sentence?
(A) She played.

(B) Her mother and father would be praying.

(C) As the nuclear power plant was already being built.
(D) The clever teachers wrote long complex sentences.

"In every room of the haunted mansion, ghosts were flying about.” What is the SUBJECT of
the sentence?

(A) ghosts (B) ghosts were flying about

(C) flying (D) In every room of the haunted mansion

Which of the following sentences begins with a "prepositional phrase"?
(A) Martin Johnson, the salesman, is my father's best friend.

(B) In the young man's apartment, | found the clue I was looking for.
(C) First, paint the background blue.

(D) Therefore, vegetables are a good source of vitamins.

Which of the following sentences is most CONCISE?

(A) England is a country in which the people of England have maintained their parks
beautifully.

(B) England has many beautifully maintained parks.

(C) The beautiful parks in England have been beautifully maintained.

(D) England is a state in which they maintain their parks beautifully.
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Which of the following sentences is most CONCISE?

(A) Amazed, the students laughed at the teacher's magic tricks in amazement.

(B) Amazed, the students, both the male and female ones, laughed at the teacher's magic tricks.

(C) Amazed, the students laughed at the teacher's magic tricks.

(D) Amazed the students were so they, the students, laughed and laughed at the teacher's magic
tricks.

In which of the following sentences is the parallel construction CORRECT?

(A) Winter in England is very windy and has many bitterly cold days.

(B) The horses race down the track, turn the corner at great speed, and then they head for the
home stretch.

(C) He disliked eating broccoli, drinking water, and he didn't care for carrot juice, either.

(D) Her favorite sports are table tennis, judo, and curling, though she does not do any of them
particularly well.

Which of the following sentences is CORRECT?

(A) The people were being bleed dry by property taxes.
(B) The people were being bleeded dry by property taxes.
(C) The people were being bleeding dry by property taxes.
(D) The people were being bled dry by property taxes.

In which of the following sentences is the punctuation CORRECT?

(A) He will, 1 think be back.

(B) Smith sat alone on the chair near the desk, the fabric of his expensive dark blue suit
stretched tightly over his massive shoulders.

(C) I was always claiming, that my neighbors were loud, rude and untidy, but now I have
decided that they are dishonest as well.

(D) I was born on October, 2, 1953 on a cold and rainy day.

In which of the following sentences is the punctuation INCORRECT?

(A) One of the best ways to stay in contact with friends while travelling is to send them
postcards one of the best ways to stay in contact relatives is to send them Christmas cards.

(B) He decided to consult the map; however, she decided to ask the betel nut vendor.

(C) He decided to consult the map; she decided to ask the betel nut vendor.

(D) I saw Rafael, my close buddy; Doctor Chen, my pediatrician; and Gus, my gymnastics
coach.

Which of the following bits of advice about paragraphs does not make good sense?

(A) A paragraph should usually have a topic sentence and that topic sentence must always be
the first sentence of the paragraph.

(B) A paragraph is a group of sentences that develops one main idea.

(C) If a paragraph is too short, the readers might feel some information is missing, while if it is
too long, the reader may become bored or confused.

(D) A paragraph is coherent when its sentences are related to each other, not only in content but
also in grammatical structures and choice of words.

H 8 FI 57 6 I



AXHE(—) BEXRB(OD)

42. Read the following paragraph:

Last evening at a party, a friend asked me, "Are you a Virgo?" Astrology is enjoying

increasing popularity in Taiwan. My colleagues hurry every morning to read their horoscopes

in the paper. At local bookstores in Taipei, cards, books, T-shits, and other useless astrological

products sell fast. Even some public officials, like the former Minister of Health, are known to

consider the "science" of astrology before making a policy change.

Which of the following is the topic sentence of the above paragraph?

(A) Last evening at a party, a friend asked me, "Are you a Virgo?"

(B) Astrology is enjoying increasing popularity in Taiwan.

(C) At local bookstores in Taipei, cards, books, T-shits, and other useless astrological products
sell fast.

(D) Even some public officials, like the former Minister of Health, have been known to consider
the "science" of astrology before making a policy change.

43. According to Amory Lovins, "Converting to efficient lighting equipment . . . would save the
U.S. electricity equal to the output of 120 large power plants plus $30 billion a year in fuel and
maintenance costs."

Why are quotation marks used in the sentence above?

(A) It shows that the words in quotation marks are an explanation of what Amory Lovins has
written.

(B) The quotation marks are necessary to show that the name of a book is being discussed.

(C) It signifies that the words are Amory Lovins’s and not the author's.

(D) It shows emphasis.

IV. MY SBIRNSTRR - G5k PYlsE  EREE SR -

(1) "Only children™ have been described as selfish, spoiled, dependent, and lonely.
(2) Moreover, research indicates that there are no essential differences between a child reared alone
and one who is reared with one or more siblings. (3) They display no more evidence of
mal-adjustment or self-centeredness than any other children and them tend to strongly resemble
firstborn children in such aspects as higher educational goals. (4) "Only children™ perform better
on cognitive tests, more mature and cultivated, more socially sensitive, and demonstrate superiority
in language facility.

(5) "Only children" also enjoy the advantage of having parents where, without the distraction
of other children, are able to devote more time to him, talk to him, and stimulate him in intellectual
activities. (6) However, parents also exert greater pressure for mature behavior at an early age and
for achievement. (7) Diminished contact with other children, such as siblings, encourages them to
indulge in intellectual pursuits, moreover, encourages a rich fantasy life, independence and
originality.

44. Sentence (2) : Moreover, research indicates that there are no essential differences between a
child reared alone and one who is reared with one or more siblings.
What correction should be made to this sentence?
(A) Replace Moreover with However. (B) Insert a comma after differences.
(C) Change siblings to brothers and sisters. (D) Leave the sentence as it is.
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Sentence (3) : They display no more evidence of mal-adjustment or self-centeredness than other
children and them tend to strongly resemble firstborn children in such aspects as higher
educational goals.

What correction should be made to this sentence?

(A) Change display to shows. (B) Change strongly to strong.

(C) Change and to as such. (D) Omit them.

Sentence (4) : "Only children” perform better on cognitive tests, more mature and cultivated,

more socially sensitive, and demonstrate superiority in language facility.

What correction should be made to this sentence?

(A) Change better to well.

(B) Insert are before more mature and cultivated and insert are before more socially sensitive.

(C) Switch the order of more mature and cultivated with more socially sensitive so that it reads
more socially sensitive, and more mature and cultivated.

(D) Change superiority to superior.

Which sentence in the first paragraph is the topic sentence?
(A) Sentence (1) (B) Sentence (2) (C) Sentence (3) (D) Sentence (4)

Sentence (5) : "Only children" also enjoy the advantage of having parents where, without the
distraction of other children, are able to devote more time to him, talk to him, and stimulate him
in intellectual activities.

What correction should be made to this sentence?

(A) Change where to who. (B) Change the distraction to a distraction.

(C) Change of having to to have. (D) Insert to before stimulate.

What other correction should be made to Sentence (5)?

(A) Change him to them in the three phrases that have the word him.
(B) Insert are after "Only children".

(C) Insert a colon after other children.

(D) Change stimulate to stimulating.

Sentence (7) : Diminished contact with other children, such as siblings, encourages them to
indulge in intellectual pursuits, moreover, encourages a rich fantasy life, independence and
originality.

What correction should be made to this sentence?

(A) Change Diminished to Diminish.

(B) Change children to child.

(C) Change intellectual to intellectually.

(D) Change moreover, encourages to and encourages.
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